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PERATURAN PEMARKAHAN SET 2 KERTAS 1

No Peraturan Pemarkahan Markah | Jumlah
Markah
1 |{-1,009} 2 2
Bl: f(0)=-1 ATAU f(-1)=0 ATAU f(2)=9
2 2 3 3
X=—
3
B2: Xx+5=4x+3
Bl: f?(x)=4x+3 ATAU f.g(x)=x+5
3 3 3 3
Xx=9m and y:Em
3
B2: x=9m or yzam
Bl: 4x+8y =48 or 4xy+x*=135 or x=12-2y
4 m=3 and n=5 3 3
B2: m=—-4o0or n=6, OR m=3o0or n=5
Bl: xX*—x-12=0
5 2<X<8 2 2
Bl: (x—-2)(x-8) <0
6 | f(x)=—(x+1)*+6 4 4

B3:q=6 anda=-1
B2: 2=4(4—-q)+q
Bl:a=5-qor2=4a+q




m+2n-3
B2 : log, s+log,t* —log, 3* OR log, st* —log, 27
B1:log,s=m OR log,t=n

8 |t=4

B2: t>3.2 OR t>.%01-30

log,,1.1

B1: log,,1.1' > log,,1.36 OR 1.1' > log1.36
9 |(a) T,=114

Bl: a=720rT,=72+(8-)6

(b) 42 minit

_ 20

Bl:S,, :7[2(72) = (20-1)6] or 2580
10 25

a=—

2
B2: a(1 21
2
Bl:r= 1
5
11 100
Jx
1
B2: log, y= —Elog10 X+ log,,100
Bl: m= _E = —1
4 2

12 | 3x* +3y*-30x-16y+15=0

B3: X* +6x+9+Yy* +8y+16=4(x* —6X+9+y* -2y +1)

B2: \J(x+3)2+(y+4)? =2,/(x-3)* +(y—1)?
B1: PA = 2PB




13

y=—X-7

B2: _2=%(4)+c

5

normal —
4

Bl: m

14

a) 13

b) n=9 and m=2
B2: n—-5m=-1 or -12+12m=12
BL: (n—-5m)i+(-12+12m) j

15

q=—2
B2: \J(2)° +(-4+q) =40

B1: ﬁ:21+(—4+q)1

16

22.265
B2:167r-24

Bl: A:%(8)2 gj

17

m? -1

B2: —m?-1 or seen -1

B1 : kos @kos180° —sin #sin180°

18

16y =x+161

B3: 10 =~ (~1)+c
16

B2: 4x-12=-16

81: ¥ —ax—120r m =16
dx




19

42
27

8o - ((3—26)_(1—26)ﬂ
3 1

B1: X‘ﬂ

Wl

Wl
Y

20

(@) 49.5
5o . (895x3)+(69.5x8) +(49.5x10) +(29.5x4) +(9.5x5)

3+8+10+4+5
B1: (89.5x3)+(69.5x8) +(49.5x10) +(29.5x4) +(9.5%5)

(b) 55.5

21

(@) 161
(b) 3766

, sz
Bl:3 = —23?
7

22

84
B2: (°C,x ‘C,)+(°C,x 'C,)+(°C, x *C,)+(*C;x “C))

B1: (°C,x C,)or(°C;x “C, )or (°C, x “C, Jor (°C, x “C, )

23

7

24

B2 [ 1) (30,1
36 2) (36 4

B1:

6 1 30 1
— X — or | —x—
[36 2} (36 4)




24

0.8503

B2 : "C,(0.9)°(0.1)* + 'C,(0.9) (0.1)°

B1: 'C,(0.9)°(0.1)" or 'C,(0.9)'(0.1)° or p=0.9 0or 0.1 or
P(X =6)+P(X =7)

25

@) k=23

Bl: ﬁzl
3

(b) 0.6999

B1: P(-1.667 <z<0.667) or P(ZS_BO 32_30]

<z<
3




